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These cost are incurred even
when output is zero
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Later Total variable cost increases at a
increasing rate because total product is
increasing at a decreasing rate.

Total variable cost increases first at a
decreasing rate because total product is
increasing at an increasing rate.
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COST CURVES

MC

A The marginal cost curve is U-shaped.

Marginal cost is relatively high at small
quantities of output, then as
production increases, declines,
reaches a minimum value, then rises.
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Average fixed cost will fall as
output increases because the
fixed cost is spread over more

units now
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As output increases,
further, AVC starts
increasing because of the
law of diminishing returns AVC
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As output increases,
average variable cost
falls because of
spreading of cost
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